
ACM Hosted Contests Ar
hive University of Valladolid (SPAIN)10012 How Big Is It?Ian's going to California, and he has to pa
k his things, in
luding his 
olle
tion of 
ir
les. Given a setof 
ir
les, your program must �nd the smallest re
tangular box in whi
h they �t.All 
ir
les must tou
h the bottom of the box. The �gure below shows an a

eptable pa
king for aset of 
ir
les (although this may not be the optimal pa
king for these parti
ular 
ir
les). Note that inan ideal pa
king, ea
h 
ir
le should tou
h at least one other 
ir
le (but you probably �gured that out).

InputThe �rst line of input 
ontains a single positive de
imal integer n, n < 50. This indi
ates the numberof lines whi
h follow. The subsequent n lines ea
h 
ontain a series of numbers separated by spa
es.The �rst number on ea
h of these lines is a positive integer m, m < 8, whi
h indi
ates how many othernumbers appear on that line. The next m numbers on the line are the radii of the 
ir
les whi
h mustbe pa
ked in a single box. These numbers need not be integers.OutputFor ea
h data line of input, ex
luding the �rst line of input 
ontaining n, your program must outputthe size of the smallest re
tangle whi
h 
an pa
k the 
ir
les. Ea
h 
ase should be output on a separateline by itself, with three pla
es after the de
imal point. Do not output leading zeroes unless the numberis less than 1, e.g. 0.543.Sample Input33 2.0 1.0 2.04 2.0 2.0 2.0 2.03 2.0 1.0 4.0Sample Output9.65716.00012.657
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Problem C:


